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A HEH
M 0 = MHIA HS(HEY)

ol 28 HEY 29 (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - BES O] a0 ol & o blnE2
A=A 1,564,401 1,504,779 59,622
=0l 0hE NHIA HIB(HEH) 326,688 308,066 18,622
SSHQ HEH 2Y 326,688 308,066 18,622
HY2Y L 2A2|(HSH) 93,764 79,142 14,622

101 QIAHI 46,300 31,678 14,622
M IRNZZ2NSE S 46,300 31,678 14,622
OXgJ] 2ela=H 2R
ZE 76,9003 *1H+300 23,088 13,853 9,235
OFAL 23013t e1fY
& 76,9003 18180 13,853 8,466 5,387
33AE % HH |A2(HEH) 93,824 89,824 4,000
201 eer23y| 26,540 22,540 4,000
02 S3=gHl 26,540 22,540 4,000
OXr&=AlHl 16,500 12,500 4,000
-XEESXRE
Z& 5,000,000 *1CH 5,000 4,000 1,000
-A8slE Z& 5,000,000 *1CH 5,000 3,500 1,500
-Sa3sE Z& 6,500,000 *1CH 6,500 5,000 1,500
FOHOIEA XN (HEH) 966,000 926,000 40,000
ZE U= KAWL (HEH) 966,000 926,000 40,000
A2 FE=AA(HAEH) 850,000 820,000 30,000
401 Al&BIL LY 850,000 820,000 30,000
01 AlEZHI 850,000 820,000 30,000
Old Ot=ti+==2 HHISA 15,000 0 15,000
£ SETHIBA 15,000 0 15,000
I2s |AZe(HEY) 116,000 106,000 10,000
401 AlEHIYL 2 THYI 50,000 40,000 10,000
01 Al&HI 50,000 40,000 10,000
Os&zEs #ANEs
& 35,000,000 35,000 30,000 5,000
OZADIZE RXIE=
Z& 15,000,000 15,000 10,000 5,000
HH2ALH(HAZEH) 271,713 270,713 1,000
Jl2ddI(gEd) 96,233 95,233 1,000
JlEZeI(eEY) 96,233 95,233 1,000
201 LEH2 | 29,121 28,121 1,000
01 At22t2l] 23,421 22,421 1,000
OJlE=3H| & 9,400,000& 9,400 8,400 1,000




